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1 Fxl— B e 800 600 200

2 FZROETC i 650 90 50 420 90

3 Fvh, AV A e 610 150 140 270 50

4 FTC #ZFOH MR 3C 600 600

5 ERETC /N B 487 420 42 25

6 FTC #ZFDH Ve B 1 460 90 50 270 50

7 HLTC I o 430 90 200 140

8 HpET Y FHik 1 318 270 3 42 3

9 T Bz 525 312 270 42

10 HLTC A IEE 240 150 90

10 HFETY s T 240 90 150

12 JEAREFETC HHET 230 90 90 50

13 HpET Y R BRHL 198 492 150 6

14 HOHETC wAE (ENH 192 150 42

15 NTT R&D EE E T 182 42 50 90

16 FA A 3k s AT 180 90 90

17 Fl— R ER 160 3 150 7

18 T-MACH B HT 150 150

18 F ol — AR i1 150 150

20 HLTC T £ 144 42 6 90 6

21 JEAREFETC IR TR 142 492 100

292 T-MACH %k BT 132 90 42

22 YV =—JEK KE 77 132 42 90

24 Fl LD NEE s 125 100 25

25 V=—JER A IR T 118 90 28

25 FrL Y [ 118 3 100 15

27 F ol — B ACE 100 100

28 F ¥ ATC HH &1 99 42 492 15

29 F ¢ ATC KIE 15 1 95 70 25

29 H S JER HE T 95 45 25 25

31 HEETY NS T 94 42 45 7

32 7)Y N 93 90 3

33 = LilER PAEREES 90 90

33 HEETY el e 90 90

35 FxL oY il 72 88 3 70 15

36 RN JBm EL T 82 25 25 25 7

37 F L ATC i A 77 70 7

38 T.0.P s AET 76 6 70

39 NTT R&D R B 57 492 15

40 77u0—FTC |ERE 5H 52 45 7

41 = TlER IR A2 51 6 45

41 JEAREFETC —k B+ 51 6 492 3

41 FTxLY HAH B3 51 3 42 6

44 FAA vk AIF S 50 50

415 FAAT Tk WH 51 48 3 42 3

45 FrL Y i 2B 48 3 45

45 Fxl Y RH 50+ 48 3 45

48 AH—TC o 5ERE 47 15 25 7

49 HOHETC kT £ 45 45

49 FrL Y A BT 45 45

51 RN i)l Fa- 42 492

52 7Y K1l o 40 40

52 HpET o A EHk 40 25 15

52 HLTC FRAT iR 40 40

55 HLTC A 5T 37 15 15 7

56 HLTC Pprp B 32 25 7

57 HEARTC W S 1 28 28
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57 F ¥ ATC e 55T 28 10 18
59 FEARTC B BT 25 25

59 FTC ZOH T LA 25 25

59 Fvh, AV Sl B 25 25

59 Fxl Y g Bk 25 25

59 FTC #ZDH R ES 25 25
64 F ¢ ATC HH H3F 22 15 7
65 FUALTC NEES: 21 18 3
66 F ol — FrE AN F 18 18

66 FEARTC [N 18 18
68 eI FHiE & 16 6 10
68 HEARTC 75k LT 16 6 10
70 FyL oY ESETS 15 15

70 7Y Rk ZH 15 15

70 FA A 3wk R &1 15 15

70 B JUIR R 15 15

70 HPEET Y N 15 15

70 Fxl Y %k /hES 15 15

70 Fxl Y AR Ehr 15 15

70 8, fFfE A1 =%+ 15 15

70 Fxl Y INCEES 15 15

70 8, fFfE HAH BT 15 15
70 8, fFfE BE EE 15 15
70 F=l)— LI OB 15 15
70 T.0O.P FHiy H 15 15
70 Fvh, AV R BT 15 15
84 'HOHETC A9 FET- 13 10 3
84 F ) — S T 13 10 3
84 F=l— (L R4 13 10 3
84 FEARTC JE i HET 13 3 10
88 FTC #ZFOH Nk 1B 10 3 7
89 HOHETC Al Fip A 9 6 3
89 FTC #ZFOH AL - 9 3 6
91 HOHETC IRTE BT 7 7
91 77u—FTC | FiE BT 7 7
91 Fxl Y ke AT 7 7
91 8, fFEfE B IR E 7 7
91 HEETY I A 7 7
91 F ¥ ATC KA LA 7 7
97 Fvh, AV BT TX 6 6

97 F ol — HiE LET 6 3 3
97 FTC #HDOH EEE=ES 6 3 3
97 HPETY R ART 6 6
97 HIEARTC S 6 6
97 ‘HDHETC IS 6 6
97 7 7u—FTC |kl &+ 6 6
97 Fxl— JANE=IES 6 6
105 Fxl Y R 3 3

105 8, fFfE BA LE 3 3

105 FA A 3wk e HIl - 3 3
105 F ) — fBF Bl 3 3
105 Frl— B LT 3 3
105 HEARTC ' BT 3 3
105 L ARNTC T 3 3




